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MATHEMATICS TEST
60 Minutes—60 Questions

DIRECTIONS: Solve each problem, choose the correct
answer, and then fill in the corresponding oval on your
answer document.

Do not linger over problems that take too much time.
Solve as many as you can; then return to the others in
the time you have left for this test.

You are permitted to use a calculator on this test. You
may use your calculator for any problems you choose,

but some of the problems may best be done without
using a calculator,

Note: Unless otherwise stated, all of the following should
be'assumed.

1. lllustrative figures are NOT necessarily drawn to scale.
2. Geometric figures lie in a plane. :

3. The word fine indicates a straightline.

4. The word average indicates arithmetic mean.

1. Which point in the standard (x,y) coordinate plane
below has the coordinates (-3,5) 7 .
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DO YOUR FIGURING HERE.

X Mus7 be /f’/# i Wjﬁ,«"
A 5{ st be apovt X —pui &
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2. A bag contains 4 red jelly beans, 5 green jelly beans,
and 3 white jelly beans. If a jelly bean is selected at
random from the bag, what is the probability that the
jelly bean selected is green?

F. L M W find
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3. The balance in Joan’s savings account tripled during
the year. Joan then withdrew $500, and the resulting
balance was $100. What was the balance in the account
before it tripled?

—=A, $200 )
> 5 3(x) — s
C. %;100
D. $500 _
E. $600 3 X
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4. For what value of x is the equation 2(x — 6) + x = 18 true? ;),,p/p DO YOUR FIGURING HERE.

BB 2x—z4x =/8 P e
6 H 8 3 = R
Jt 4

5. An earring manufacturing company has fixed costs of
$10,000 per month and production costs of $0.60 for - — . / 7
each pair of earrings it makes. If the company pro- /7 X0 CEJK/,S 7~ 1/44/"4/64 &22
duces x pairs of earrings in a month, which of the fol-

lowing expressions represents the total of the
D company’s monthly costs?

ﬂ :
A. $10,000x .ﬁ//jfﬁgp 7/ éﬁ K

B. $10,000 + x e ;
C. $10,000x + $0.60 , I/= sl = ;72’*79!7‘//’3 s
—3 D. $10,000 + $0.60x 797&:’-& hods rriny A

E. ($10,000 + $0.60)x ﬁ} Yes, ResT €T

6. Anton went to Mexico during summer vacation with

his Spanish class. He recorded the number of pesos he W 5&‘,977 a7 é./ﬁ/é_f

spent each day in a table, as shown below. What was —

the mean number of pesos he spent per day? - fp_% ’;&é b g M/ﬂ—

July 1 2 3 4 5
H Pesos spent 250 | 100 | 150 | 100 | 400 %‘/, 25‘0 %/pﬂ 7(—/@ %/ﬁé)'/’ y&'@

r i =
H. 20

J. 220 _ A = __/ff_"{ . B B
K. 300 . -2

! ] , RS = RT, and th B .
7 1 AT, o bl B < e mesnsof 70, ¢ 5 fo &7 ani |
R N e A
f Y VorTex e o 96, Ko
s T

hase gles Get SprrEveds

A. 20° S , — = f

B. 40° L\/]/{ F@M@MM o7 /i ﬁﬁ % yﬁ
C. 50°

—=D. 70° /%‘/Q—;LZ :_-_7/;
E. Cannot be determined from the given information :

47

8. In the formula d = rt, d represents distance in miles, P/ é\{f %/[//

r represents average speed in miles per hour, and ¢

s 8 g g -

represents time in hours. What is an automobile’s ? ¢/
)

6 average speed, in miles per hour, if it travels 60 miles p -

3
inI%hours? Q& ':-—R* /__2/:___ W-%/’ ?V’

F 30 ZO
Z "
T phlte > iS5

—> G. 40
H. 60
15 GOONTO THE NEXT PAGE.

Z
J. 90 £,
K. 120 ﬁ
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9. 13-2] - l1-4] =7 /1556%/24 Vadusr povour FIGURING HERE.
B—=b3 o pbstts Vilucr Gl [rrontiisis

C. 2

D i Dy Ao i, Hns 7B cpewator. [32]= /

E. 10

10. If ¢, d, and f are nonzero real numbersm :
which of the following equations for ¢ must always be ‘ /
true? /% % /ﬁ ﬁé?’ &W‘

I R e i Y

G c=4 ;
> o] %65/:75/ Eons a:%

J. c=f-d ' ‘ i

K. c=Vdf

. < 2 o
11. A cookie recipe calls for = cup sugar to make / )
; falio 4ne 2

24 two-inch cookies. According to this recipe, how

‘many cups of sugar should be used to make 2~ -
60 two-inch cookies? Z — ﬂ'ég: f ﬁ

A. g = _ e

¢ 14 ‘ "
-——9-1).1% io_’_ é’”ég N ﬂ_ﬂ ?_/_E_
E. 31 24 - 24 - ,Zf,,ig 3 T 3

12. In the‘ figure below, B is on DE and DE || AC. Which % 7 //é/ // /‘/4% J/V/ /

of the following angle congruences must hold?

b Trans Versal S

D US &
]. 2 3 ) a fé ks )
/D< F. Z1=2/2 . é/& ‘ 6—){7‘%/ , g
H 21223 | | a/t /"’_5\';
. L2= ;
-—_%{. 23224 A Ne é/a.

13. For what value of a is x = 3 a solution to the equation

/ %T?T;?”” Mo ke K>3

5o 3r3=a"3+7

E. -3 5
- a = 2%
ACT-578 ] .«—ZZ = 3&. 16 ' GO ON TO THE NEXT PAGE.
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14. Quadrilateral ABCD has vertices (-2,-1), (4,-3), (5,2), DO YOUR FIGURING HERE.

and (-1,3) in the standard (x,y) coordinate plane.

Suppose ABCD is translated 2 units to the left and [’ﬂﬂ ;—/A/M/— 6}’&,/24//\6

? 1 unit down, forming quadrilateral A'B’C"D’. Which of

the followmg shows the coordinates of the vertices of LI
pidpa Truns JeaTGon”

L B e00nED  Esien M i ApPAEmnrs.
H' ('—2’_’2)& (4:“4)3 (S,I)s (_132)
3. (0.0), (6-2), (7.3, (14) Sonr ,o/ oA Two NEGATIVE
K' (4’2)v (_8:6): (_109—'4)1 (2’_6) ~f % gm &Mé M?ﬁ ,‘?77\%&-
« rIT T 7.

15. In the figure below, F and E are points on GD. Whatis

;I'gaﬁgliggg nilfcegcz;a?of square ABEF to the area of /4 % f ’4 ﬂ c% 4. W@— ﬂ/}// /
A}——Zin JIIB -5 in IC /DM//?/?ﬁ/’W@?fﬂé)xV/—b

i

‘ WOt FaTio, Gead &éxmmal

07 hows AT Combiven T w8
G E w7 A 7’2/&/‘4_‘;

__aE 27 -, 27 7

Area O+ 7 T 77

16. When a = é) and g =d, )J&'hich of the following equa- /4 ’)0 M 5. .:ZM 7},
tions must etme.’/ ;%,3» % 47‘_(7/
F. a+b=c+d Mﬁ’M’M
“—%G.a+d=b+cqﬂ 2 # ;+3_
H. a+c=a+b L/ pf%@?@,

K aised 1T 2T F U UL & EmrsYy WNotesrs bet— S

3 ¥ U # Y ¥ o] Procéss F ESs79: 7T TON

S 17. The scales on both axes of the standard {(x,y) coordi- é

. nate plane beJow are the same. Of the following, which 5 / A/Z/ / M

Q)\US P/ is the best estimate for the slope of AB? p t{' @dk /‘/

¥

A 7,9«,&,0{\/&/“7/7‘ //MA Af 57

iv o s/ op& _S/ /p £~ =
ot A >6

%””ﬁ/’ ot

Y
?‘f’”‘ﬁ 9%”’7 4’//' z, /ééw Jtee A
More Cé/ﬁ/ﬁ P M/ 76 / GO ON TO THE NEXT PAGE.
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18. A road ma;% is ldra\;ln to scale SIO tI&at 11561nches ‘ i 7,_ DO YOUR FIGURING HERE.
h = | —
é ;:gizzggtg mi e‘s ow many miles does 1.6 inches a//0 ﬂﬂf/ /pm 00 TN

o o 5 L
G 06 L } ‘ 90/ é C/\ é
J. 100 q 0 x /
K. 106 <
19. In th dard di 1 h bel
In e st o e e e in s, from 775+ s vs ~NH /57,31 ce
point A to point B ? oA/f_ ’ .
ﬁrm&./ Btee<Tipn: WF S@pé

A
b e o ok on B Guesron
' » AHe] andl Mt Gk $hr
B(1-1) Afﬁmé ( L/ = [M— S——M‘ZJVITI
20. Which of the following is NOT a solution of g‘(/,,p /PVMM/}W
(x=3)x=DE+3)(x+7) =07
. V2 @@_ ‘0 or éw%

1
J. 3 Xlaw
— K. 7 bhe these \/af"‘é—"

21. Which of the fo]lowing shows the solution set for the , e
inequality 5x - 129 ? : W%W?f’ﬁ/

S A f } b

-2 0 2 X
_g‘~
B : — %//Lé %/Mﬂ 7:4%
-2 0 8 x
5
C. b $— —
=) 0 2 x

|

HEORP
LhW o n
o]

Y

N

\\
R
%

L

22, If a = 10, then which of the following represents 8,003 ? /D/ M
F. 8a+3 . 74 -

/S g 832;4-33 | ) = - T '"9'1 "“;)_ g !
— J. 8a°+3 ' /3 /07—/0/ J/0° /D“ |0 O |
K. 84'+3 0
a0 z‘,—éﬂ/ g @& 3 Atesr~

ACT-57B : ! 18 GO ON TO THE NEXT PAGE.
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23, What is the value of & in the solution to the system of
equations below?

Vo

B.
. Ci
-———-—;]E).

/\/\AAAA

y.5727w a5
DO YOUR FIGURING ERE

3a-2b=21 ___ZZ'%M— /76«94/74% -7£/V2/

a+3b=-4

17 - i 7% Q_J La — Zé’—~L/
5 = -//b"-i‘_%/

24. Which of the following is an equivalent form of b
x+x(x+x)? />J /"%96‘7‘7%’ Y

g-. 4;2+2x / M‘DM
rwn () = KX =X
K. x'

£

25. To check the slope of a ramp, a building inspector - _ . / ;
places an overlay of the standard (x,y) coordinate plane Fj Uy’ A(f. IO/D & \?} Ve e/
on the construction blueprint so that the x-axis aligns %
with the horizontal on the blueprint. The line segment - ! 7
representing the side view of the ramp goes through YR, _ PED I AN «S—

the points (1,-3) and (14,2). What is the slope of the
planned ramp?

\
P o0 oF

A%._ 4 —1 - 73
|7 dgwi eVen preed A v Ax.

e only ansiier (ortR & o0 8
A/M%waﬁ?’ DAY

26. Due to inflation, a car that formerly sold for $15,000 /)(% CM_ Z\/Me%

now sells for 10% more. Which of the following calcu-

G.
—H.

1

K.

15,000 + 15,000(0.01) i
15,000 + 15,000(0.10)

15,000 + 15,000(10) W/W /ﬂ? JIRE  IF /ﬁ’/é

15,000(0.10)

lations gives the current cost, in dollars, of the gar?
«}A’ F. 15,000 + 10 7% W /M- é&‘%— At Cap

27. In 3-dimensional space, the set of alt points 12 units. D 6/ ‘A ; V2] /L/ ﬁ’ %’&

9/ from the origin is:
A. acircle.
e e Se7 o att Foids %/ (7T
g’ 3;32111'15?51%1&1133. W 4 .,& X‘@ C}W % :;

Heirele s Tetines s , GO ON TO THE NEXT PAGE.
Z §e'/0?' PoIrT S E74) /}/4717’ 75.2‘:’5
X enTER PonT



kp—'g._//t/* _ H[wﬁ_)
___.....-—-—--"‘""""_

120
2A/\/\/\/\/\/\/\/\2

28. In the regular hexagon below, vertices B, C, and D are - DO YOUR FIGURING HERE.
labeled; OA is perpendicular to CD; A is the mldpomt W
of CD; and O is the mldpomt of BC. What is the degree M /f @zfzé Wef &?’

oi ik egelor a5t

94 Diseers ~2 )/ Apssire 7
‘@L ¢ o co & ol w = €A4c4 M/é . 4
=, 30°

45° A b /7 ’P"J“/‘”‘ pors 7 I
K. 60° . c oc reaks on¢ Aas e
A OcA 'S5 # 3Bo,60, Po FIiLé7 T rimmgie - 2 éfwzms
29. The number 0.005 is 100 times as large as which of the

illogéng numbers? ”“ /7;;0 /7/A/7 A//wd/”?o?/s
V B gWs K Jor = 0. 0000 5

==D. 0.00005

RS0 Lowr/ Which owt has Feer 2€r0S

30. The volume, V, of a sphere is determined by the for-

mula V = #, where r is the radius of the sphere. /p//qjﬂ//‘/? /Vﬁ/l/?é&VS /)Véd

P What is the volume, in cubic centimeters, of a sphere Q /
FZ) /e

with a diameter 6 centimeters long?

" D=
Y (i can s Y303 F D2ET
L. latn Hos (& Your~ = = B e

.- 2881
4

1. 1 '
P L T
31. Which of the following is equal to f—ﬁ ? Af/ﬂ//%/ 5 Zd/é ’6&7’/(,07}/1// Po ViSipar
s 273 O FR g7 oAs S
L A 2 % )
Vi T ¢
Cn l.—-_” = S— == e, s S = ——
f = ac ZL = < 30 S
—=D. < D @ b ,_é-;
CE g

32. One neon sign flashes every 6 seconds. Another neon \

G\ sign flashes every 8 seconds. If they flash together and Zéﬁﬁ‘?‘ CM ﬂ)ﬁ /L/

you begin counting seconds, how many seconds after

they flash together will they next flash together? //q / - /
r. i 417ip/&

S Thim b 7%53 Torila tioas
J 7 g FACTOFS
K. 2 é 8 (AA/?ld,fé S/ dej,_?e
' A ,;3‘ S HiG
2% 2 B e 2P = 2

ACT-57B
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33. IfV2x —5=1,thenx="7 55/1/ DQ YOUR FIGURING HERE.
A. -8
v By M can G e
b2 gl Nz 2@)
yW eézz/ Zzx =36
x =75

e

34. A truck sprang a leak at the bottom of its radiator,
which held 480 ounces of fluid when it started to leak,
and started losing radiator fluid at a constant rate of
4 ounces per minute. Suppose that the radiator con-
tinued to leak at this constant rate and that the truck,
traveling at 35 miles per hour, could continue traveling
at this rate until its radiator was completely empty. In
how many miles would the radiator be empty?

¥
W

A G i3 4B¢ oz
H. 35.0
K. 1300 7 o0 fuin

Ka7e PRoblm

(o Bo

::/227%@%/:.424;4%%3/

B35 mph ML houn's = 7571«%,

35. Each of 3 lines crosses the other 2 lines, as shown
below. Which of the following relationships, involving
angle measures (in degrees), must be true?

VoyTicHt e GIES

X any/ ToTAL Nambes

9,10 5\6
g;' g/nl 8\{”

P
I. mzZ4 + mZ5 + m£10 = 180°
Il. m£2 +mZ7 +mZ12 =180°
III. m£2 + mL7 + m£10 = 180°

I only

1T only

III only

1 and II only
I, 11, and IIT

g’:’-’@?’?’

oFf /ﬁ/‘ee S ‘A a
oG e

Aﬁéﬁwf ~&as

/7%57 177

fﬁ%/'

W
but Some (2

W sxmm/ff o
o SHF

36. How many ordered pairs (x,y) of real numbers will
satisfy the equation 2x— 5y =67

F. 0
W
H. 2
Jo 3
_—» K. Infinitely many

cndd

hAas

ACT-57B
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O ON TO THE NEXT PAGE.
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YT Mark works steadily he can complete a task in DO YOUR FIGURING HERE.

x hours. What portion of the task remains if he works

steadily for y hours, where y is any value less than x ? P /,7? £, /({7
A. G+ C&@ M
X 6'ﬁ
G- € ra /C/g"

B
f/ c. @=» @ lfém‘&/””‘/j P&f’fa/l/ 41//// %ﬁ

(x+y)

b, &= CXpreSSéd o ermrs oo i e

¥

- 2 percei

38.Ifa2—b2=813nda—b—‘9thena=? D/%Mé dj_ Z Wﬁ
Fa 2
XTE e-bran)a é) v g T
= "VIL(,S‘T e‘éh atb=9

=

39. Fory =0, — is equivalent to:
A1 .
P c/8 =3 /47,0/ Celions o7
?/ C. y3 — - é
D. w I I g
4—-)' E. _)’6 g
40, The polygon below was a square with 12-inch sides W M
before a triangle was cut off. What is the perimeter, in Z %
inches, of this polygon? " M// A7 /
9( O e fy%@j@%\e@a/ f -
. = 12 +8 =
. 4 o 12 5#‘?4—’1"‘_
4 ’ 17~
. 48

. 53 " n 8 L{ (O

-

41. A circle in the standard (x,y) coordinate plane has E@Mﬁﬂ ﬂé{/ ﬁ%_
center (2,-3) and radius 4 units. Which of the
following equations represents this circle? 4 p %_ L V L.
, 4('

A -2+ (43 e le
\ B. x+2)*-(y-3) 2 “/"Pyl(*’ [é é) —7% @D}zi/ﬁ/”ﬁs

& (x+2)§+(y—3)z
et S b= badbas
Cenfer 7, -3 Y= L{
(%) sy - ( ’5)7’)

]

I

GO ON TO THE NEXT PAGE.
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6‘ 42. In the figure below, a square is circumscribed about a DO YOUR FIGURING HERE.

circle with a 30-inch diameter. Pomts A, B, C,and D
are the midpoints of the square’s sides. What is the %_, -q&
* total area, in square inches, of the shaded regions?

B

- CiReles
\ (30) = ()"

S QT)L‘”
%/a} 9’ e 597— //f

SotesRe T ¢ = ZZ8&

F. 450
G. 225
H. 177

I o4 I
K. 47
A/“"'/ 54/}:/6-4

AREA is Yy F =
5@0#:'/’{6_— )

43. For the triangle shown below, what is the value of tan z 7 % g
N 3 Th
@( _ 4494 ren7
E. f/‘/ % =
44. Tn AABD below, points D, C, and B are collinear, AD
is perpendicular to DB, .and AC bisects ZDAB. If the ﬁ/ '47'/?/ & %/ dL %MW&WL
T//‘ measure of ZCBA is 40°, what is the measure of

C.

D.

Sls ols Slo uls Sl

e A 180~ (90+10) 7/3: re 180 ~(Yor2s5) =
L o o | 5B

D 64 B

45. You have enough material to build a fence 40 meters .
long. If you use it all to enclose a square region, how %M&W M %"Md cF—
%/ many square meters will you enclose" ; 7& D g
A. 160 ‘/ s1d LR €
—>B. 100 /| Lf f AR S
C. 0-H >
D. /
- - 0
£ 2 M\S/Méé",w i /p)(/& 2
. For what nonzero whole number & does the quadratic equa- -
tion x* + k’x + 2k = 0 have exactly 1 real solution for x ? WD W
___————-‘f\‘.
F., -4

2 &{;WWM wusny to puckly

K.

)(k L_‘,(Zﬁcyl@MMM L B Argertrd oA See

- / GO ON TO THE NEXT PAGE.
v W (/UWV m//g s 1 lo st .,
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47. Forall x> 3, —~— =
x*+3x-18

5”’”/ Vg 14

"‘ﬂgA/\/\z

DO YOUR FIGURING HERE.

JAre /cc;&w? & e i2

: ) ()é g g’ ".7 = = o l
Y e (/)(+é) (10'}) 7“‘4 D e £
BT}
E L 3—% D ~ | (')L-'B)
L ~—5 "'"’ /Oe,c,a/v.w»é: s 4 ot -x__})
. : fi & : ) ’
e et e ) A2 7 Y
Z;%?]ltma:d a]i/ the l}:egy?ag;on:s arilci;lnegg%lrir:%:vrvenf::y M /@/ ﬂ); S
i repeated undl there ate 20 squares? T 7 Mre 20 Anve 3
=iy : Ro-2.2/8 asl %
: : e N Anilbiale 2 aral O £ ?
%ﬁ“_—-.q | 3 > T
| a-b = H oF spac€Es /QXB“' 7 7 Z/
G. belweens F}ng j: A#I
H. O o b
I 79 79 @L—A)H = # o7 TAwIS % (/ /

49, If the circumference of a circle i 15 %n inches, how
many inches long is its radius?

e

A.

ﬁ/’czmé%mcf ind

faflcis g3 CoReli | S =21

2z
3
c. 5 @/7']/ = 27 7 %:ﬂf
--—-—2‘ 4 — / e
v T 72T z_ <
7 v s 4. ¥
E. \/; / = /
b(
50. If the function f satisfies the equation
+y) = + fi ir of real b Y
el s g vl i Fuvcdion's
F. Any real number
G. gnydptlnsitilve real number g
H. Oand 1 on
J. 1 only / 4: .)C‘\’[a S _Y 'F
_,——bK. 0 only _@

ACT-57B
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51. The area of the trapezoid below is 16 square inches, - DO YOUR FIGURING HERE

the altitude is 2 inches, and the length of one base is

3 inches. What is the length, b, of the other base, in
inches? M é’%@ b 4/’6&

; b ’

¥ \\¥i_gf/////é (b p3) o 7

e

D 4 i% 'R b+bl)
a2 o b e

E. 15

52. This year, 75% of the graduating class of Harriet

Tubman High School had taken at least 8 math PM CEATT

courses. Of the remaining class members, 60% had

P ot :’;’::‘6*’5/1‘5;“;01";;‘;:#“““' Jooh - 75% =2SE
"o 5 4o ,
"'ﬁg. 18; 25%-—&ﬁ
6, ? :1;3;3 bor7 "0pﬂzré0'% }9&0% %7 Z‘g—y /9/

K. 45% 15 o/a

53. Which of the followmg shaded regions is the graph in

the standard (x,y) coordinate plane of the points that % W V
; : <102
satisfy the inequality |y] <107 ; ,5:9 - W

A. Y D. Yy
. A

10} SRS ﬁr a /7 /fﬂ/f /N 7&{&% %éz o

E = X + —3X
oo 10 ~10 10
o [y | £ [0

=¥/

\// Vbt
are [edd

y i
© 3

g.._
(é}’[a

é{ Vilues € y/wddf% [0

ACT-578 GO ON TO THE NEXT PAGE.
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54. A standard sheet of paper (8 inches wide by DO YOUR FIGURING HERE.
11 inches long) is rolled up so that the 2 shorter edges
just meet, forming a circular tube (cylinder) 8% inches W ﬂﬁf% a/ﬂ W W
high. How many inches in circumference is the tube?
e
11

~ &s “?{e (iittin orence 1 147@
b " Ot Uiy S W"d“@%c&,

55. A baseball team played its first 20 games and won 12 W W X = WW&/(/IQ‘L

7 of them. Then, the team went on a losing streak and .
69’1/&# lost its next 4 games. How many consecutive addi- WZ%

d tional victories does the baseball team need in order to - , .
R@ bring its winning percentage back to at least what it I 2' —{" Y N\ épy &ULC‘/"MS
(/
=

was just before this 4-game losing streak?

7{4 8 1 Qames wow ~ X
""‘:‘%: g 3 -’:’_(z\/iﬁfﬁ/hg O?L{ ;/V;'M_}C;é
. C Eqi2 5414"(:’} pkyéﬂ PWCMW %/{ / 4
- 2Y plcacesst e 278 /7MK
56. Lines p and ¢ intersect at point (1,3) in the standard ﬁ’MW 5 @' A\_&

ON x,y) coordinate plane. Lines p and r intersect at (2,5).

%‘%MJWhich of the following is an equation for line p ? % L}‘.Fe / %"é; m éfﬂ%

—7F=F. y f 2x + 1 u}h )
5‘( ; #Ez %%tﬁi from the given information /ﬁ > /(/7; % % Z/é/ W
it 4L ¢, ot 2 aplg g PoLT arg ot v 3:1ZQ)Z :

57. If sin o = %, and o is the measure of an acute angle,

then cos ot =7 7’ .
(Note: An acute angle has a degree measure from 0° to 4 fg
——-—__—-h—

—
&
a

ER
L \"7\@ ()= 16-9=7 D Lol
—> 0 ¥ -\~ ?7/\/%/

E. Cannot be determined from the given information 77\ L/ é)
I
W

acrse C@S o = P 61( 26 GO ON TO THE NEXT PAGE.
1”\' = ‘
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58. The radio station WEST is erecting a new transmitting
tower that is 280 feet tall. A support wire will be
attached to the ground at point A and to the tower
250 feet up at point B, as shown below. The wire must
be at least as long as AB. Which of the following
expresses the length of AB, in feet?

DO YOUR FIGURING HERE.

TA G
250

B e
F. 250 cos70° S)'A/ 7@ e
G. 250sin70° /4@
H. 250 tan70° =4 59/ v/ dor A@ 250, AT
.2 Al Sin70° = Fr
250 250
— K. o0 y 70° - 4 B= W
" 59, In an arithmetic series, the terms of the series are m

equally spread out. For example, in

1+5+9+ 13 + 17, consecutive terms are 4 apart. If

/?7//%//7&//? ey

he fi h 3, the 1 "S’
¥ mEmememmmesshbEe 0 ora, ), 2 E %
> A 31017 YPu dowt Kwoes B — — /N Ck. Tk

.Z— n

B4 e Wiezrr96A R- W= A

C. 3,364,700  {ZHhurs T & Ams

D. 3,691,136 A5 (36+3 (329 (

. 3,691, /272> (Z"— |4 & /t{o

3 . g& ‘h""ﬂ’ %-A/C/o{,}/ e =
E. 3,139,12 Lo = N=TRmS 2 and 136 Need 4o anfl/ )
60. Right triangle AABC has angle measures o, B, and w

v degrees and side lengths a, b, and c inches, as illus-
trated below. Which of the following is true about the
value of the product tan ff tany ?

-

G.

The value is 1.

2
The value is b—z
c

bt

a4

The value is
B

The value is undefined.

The value cannot be determined from the given
information.

D’M@‘af

7rsg

S J

END OF TEST 2

STOP! DO NOT TURN THE PAGE UNTIL TOLD TO DO SO.

ACT-57B

DO NOT RETURN TO THE PREVIOUS TEST.
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Test 2: Mathematics—Scoring Key

* EA = Pre-Algebra/Elementary Algebra
AG = Intermediate Algebra/Coordinate Geometry
GT = Plane Geometry/Trigonometry

Subscore Subscore
Area* Area*
Key EA AG GT Key EA AG GT
1. E R 31. D
2. J oveme 32. G
3. A S 33. E —_—
4. G - 34, J R
Gl D P 35. E —
6. H - 36. K PR
7. D R 37. E o e
8. G S 38 G
9. B SR 39. E -
10. H S 40. H -
11 D — 41. D =&
12. K ——— 42, G T
13. Cc R 43. B e e
14. F P 44. F S
15. E SO 45. B P
16. G W 46. H -
17. C P 47. A s
18. G - 48. G e
19. A s cone 49, C —
20. K T 50. K -
21. A o 51. D -
22. J - 52. G I
23. D - 53. C e oy
24. H — e 54, F S
25. D N 55. C —
26. H s 56. F -
27. B N 57. D PR
28. H - 58. K oo
29. D R 59. A S
30. F A 60. F a—
Number Correct (Raw Score) for:
Pre-Alg./Elem. Alg. (EA) Subscore Area
(24)
Inter. Alg./Coord. Geo. (AG) Subscore Area
(18)
Plane Geo./Trig. (GT) Subscore Area
(18)
Total Number Correct for Math Test (EA + AG + GT)
(60)

00578
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